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LOsung
Prasens/Gegenwart:

1.P.EZ.:ich

2.P.EZ.:

3.P.EZ.:

1.P.MZ.:

2.P.MZ.:

3.P.MZ.:

du

er/sieles

wir

ihr

sie

Prateritum/Mitvergangenheit:

1.P.EZ.:

2.P.EZ.:

3.P.EZ..

1.P.MZ.:

2.P.MZ.:

3.P.MZ.:

ich

du

er/sieles

wir

ihr

sie

Perfekt/Vergangenheit:

1.P.EZ.:

2.P.EZ.:

3.P.EZ..

1.P.MZ.:

2.P.MZ.:

3.P.MZ.:

ich

du

er/sieles

wir

inr

sie



https://www.mein-lernen.at/deutsch/verb/verb-tempus/tests/20453-verb-auftreten-alle-6-zeitformen
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" Losung

Plusquamperfekt/Vorvergangenheit:

1.P.EZ.: ich

2.P.EZ.: du

3.P.EZ.: er/sieles

1.P.MZ.: wir

2.P.MZ.: ihr

3.P.MZ.: sie

Futur 1/Zukunft 1:

1.P.EZ.:ich

2.P.EZ.: du

3.P.EZ.: er/sieles

1.P.MZ.: wir

2.P.MZ.: ihr

3.P.MZ.: sie

Futur 2/Zukunft 2:

1.P.EZ.:ich

2.P.EZ.: du

3.P.EZ.: er/sieles

1.P.MZ.: wir

2.P.MZ.: ihr

3.P.MZ.: sie



https://www.mein-lernen.at/deutsch/verb/verb-tempus/tests/20453-verb-auftreten-alle-6-zeitformen

